



PAGE	CT T NO	INVOICE DATE
1 of 1	1007589	03/31/2014

INVOICE NUMBER 1718 - 91451339

Pratt

(620) 672-1201

B HERMAN L LOEB LLC

I PO Box: 838

LAWRENCEVILLE

IL US

62439

o ATTN:

ACCOUNTS PAYABLE

LEASE NAME

Rosenberger

2-29

0 LOCATION B

COUNTY

Kiowa

S STATE

I T

JOB DESCRIPTION Cement-New Well Casing/Pi

JOB CONTACT E

JOB #	EQUIPMENT #	PURCHASE	ORDER NO.		TERMS	DUE DATE
40707319	27463				Net - 30 days	04/30/2014
			QTY	U of M	UNIT PRICE	INVOICE AMOUNT
For Service Dates	s: 03/28/2014 to 03/2	8/2014				
040707319						
	ent-New Well Casing/Pi 03/2	8/2014				
Cement 5 1/2" Long	gstring					
50/50 POZ			270.00	EA	8.24	2,224.18
Celloflake	APR 1	2011	68.00	EA	2.77	188.42
Gypsum	AFILL	J 2019	1,135.00	EA	0.56	637.49
FLA-322	0000	I Water	114.00	EA	5.62	640.30
Mud Flush	SCAN	INEU	1,000.00	EA	1.12	1,123.33
Gilsonite			1,620.00	EA	0.50	812.84
KCL Potassium Chlo	oride		612.00	EA	1.12	687.48
Claymax KCL Subst	ritute		5.00	EA	26.21	131.06
"Latch Down Plug	& Baffle, 5 1/2"" (Blu		1.00	EA	299.56	299.5
"Auto Fill Float Sho	e 5 1/2"" (Blue)"		1.00	EA	269.60	269.6
"Turbolizer, 5 1/2"	' (Blue)"		14.00	EA	82.38	1,153.2
"5 1/2"" Basket (BI			3.00		217.18	651.5
"Cement Scratchers	s Cable Type, 5 1/2"" "		6.00		56.17	337.0
	PU, cars one way)"		35.00		3.18	111.4
Heavy Equipment M			70.00		5.24	366.9
	el. Chgs., per ton mil		397.00		1.65	
Depth Charge; 400			1.00		1,887.20	1,887.2
Blending & Mixing S			270.00		1.05	283.0
Plug Container Util.			1.00	EA	187.22	187.2
"Service Supervisor	r, first 8 hrs on loc.		1.00	EA	131.06	131.0
		OTHER CORRES				

PLEASE REMIT TO: SEND OTHER CORRESPONDENCE TO:

BASIC ENERGY SERVICES, LP
PO BOX 841903

DALLAS, TX 75284-1903

BASIC ENERGY SERVICES, LP
801 CHERRY ST, STE 2100
FORT WORTH, TX 76102

SUB TOTAL TAX 12,777.08 460.82

INVOICE TOTAL

13,237.90



10244 NE Hwy. 61 P.O. Box 8613



FIELD SERVICE TICKET 1718 09824 A

Pratt, Kansas 67124 Phone 620-672-1201 PRESSURE PUMPING & WIRELINE

DATE TICKET NO													
DATE OF 3-28-14 DISTRICT PLATE					NEW OLD PROD INJ WDW CUSTOMER ORDER NO.:								
CUSTOMER HEIMAN L'LUOB LLC					LEASE Rusenberger WELL NO. 7-29								
ADDRESS	es an ign Cortos an	Timber of	ent porning a sold	Total	tion at the t	COUNTY	KiOn	1	STATE K)	g villad ba	1	
CITY					SERVICE CR	EW M	ATTAL, K	(uein, 4, 91	35	out,	10 100		
AUTHORIZED B	Y .	STORES	to be share such	ABUVISA Q		JOB TYPE:	con	1 un			advenuestro.	13	
EQUIPMENT	#	HRS	EQUIPMENT#	HRS	EQU	JIPMENT#	HRS	TRUCK CAL	LED 3-27-19	ATE	AM TIN	(L)	
37586		10 Av 10	and the property of the first of the figure		uris in Cale		do stam,	ARRIVED AT	JOB		AM 9:0	15	
27465	elas met		Frid ages FeVV 12 and	The same of	Commercial Spring	and professional	and the same	START OPE	RATION 3-2	8-1	SAM LI	52	
	999 - 6		in and the same of the same		1 900	Or to House was	FINISH OPERATION AM 5 3						
19960/21050				OBLE THE	RELEASED					AMD C 15			
		- 18: 1	named and the control of		CAS SHEET	O TENDRE EL Y	MARTIN.	MILES FROM	M STATION TO W	ELL	35	100	
CONTRACT CONDITIONS: (This contract must be signed before the job is commenced or merchandise is delivered). The undersigned is authorized to execute this contract as an agent of the customer. As such, the undersigned agrees and acknowledges that this contract for services, materials, products, and/or supplies includes all of and only those terms and conditions appearing on the front and back of this document. No additional or substitute terms and/or conditions shall become a part of this contract without the written consent of an officer of Basic Energy Services LP. SIGNED: (WELL OWNER, OPERATOR, CONTRACTOR OR AGENT)												shall	
ITEM/PRICE REF. NO.			ATERIAL, EQUIPMENT	AND SER	VICES US	ED	UNIT	QUANTITY	UNIT PRICE		\$ AMOUN	Т	
CPIOY	1000	The state of the s	805	e elisbetch	Cle .nosner	to establish	54	220	specific and specific	300	2420	00	
CP 104	56	1/50	201	n Vielmol	ele unit	en of Beater 1.	SI	50	no per manere		550	00	
((102	1 1 h	1	iarde talking product			100000	1 K	68	pane of the large	30	3 61	100	
C(102		OFIA			Signal Association		15	1135			251	25	
((129	54P5'mm (10.322)					LO RALLWORNS	10	1133		-	851	رد	
10201	State of the last	THE RESERVE	The state of the s	AND DOOR		of the Park Park	10	1620			1,085	40	
7700	VIL POTASIAN CHIONIC					INVECTOR IEM A	10	612	18 Delegation (N - 2)	B) F	918	W	
	THE TAXABLE PARTY OF THE PARTY					BLETTE LOUR	y Ballyer	leanoting l	enagge like tipp it sa is		Traphy metaw	1	
0704	CIAYMAX						311	5		Eis	175	SU	
00 151	Mud Frusy the rate of the Kenny has believe					uni sederad nesi	901	1,000	Kali Brancus na fili	5) B	1,500	U.	
Capacide in Property and Commission of State and Commission of Commission and Commission of Commissi									e no financia				
CF 607						hard as trave to h	ex	, and restation	er till, mileste	1	400	20	
CF1251	Auropill Floor Sive 5 12					et un titue etc in	21	2	Ligara politica de casi.		5.60	00	
(41901	hasker 51/2					No Calcul Box Card	er er	14			1,540	w	
CF [45]	em scinsiner (Ble Type 51/2					- Amerika	tr.			- 0	450	UU	
CT 2001	2001 CMT SCIATINET (BIETYPE 54					200 000 000		6	MEAN PROPERTY NAMED IN	000			
	70.19(1)				The same of the sa		1	S A SAN TO A			Total Section		
			2 (10° 280)		The state of the s		A LONGE	1000000	SUB TOT.	A1		7.4	
CHE	EMICAL /	ACID DA	TA:						SUB TOTAL	1	ender de la company		
	1 2 4 4		The street of th		SE	RVICE & EQUIF	PMENT	%TA	X ON \$			1500 T	
			A STATE OF THE STA		MA	TERIALS	në pharen	%TA	X ON \$	198	i e dista distri	100	
de emiliare press	str leis	t bis re	And a series		ANGERIO OF	anemone Toute	Telligis		ТОТ	AL ,	ration of tea	17-7-58	
		an anatomic of the first transfer the control of th											

THE ABOVE MATERIAL AND SERVICE

ORDERED BY CUSTOMER AND RECEIVED BY:

FIELD SERVICE ORDER NO.

3 ille MATINI

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)

SERVICE

REPRESENTATIVE



PRESSURE PUMPING & WIRELINE

10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124



FIELD SERVICE TICKET

1718 JOZO A

DATE TICKET NO.

Phone 620-672-1201 CONTINUETION OF 1718 09824

DATE OF JOB OLD PROD INJ WDW CUSTOMER NO. -28-14 DISTRICT Prati LLI Loes LEASE Russylv CUSTOMER WELL NO. MIONA **ADDRESS** COUNTY STATE K CITY STATE SERVICE CREW **AUTHORIZED BY** JOB TYPE: **EQUIPMENT#** HRS **EQUIPMENT#** HRS DATE TIME **EQUIPMENT#** HRS TRUCK CALLED ARRIVED AT JOB AM START OPERATION AM **FINISH OPERATION** AM PM RELEASED MILES FROM STATION TO WELL CONTRACT CONDITIONS: (This contract must be signed before the job is commenced or merchandise is delivered). The undersigned is authorized to execute this contract as an agent of the customer. As such, the undersigned agrees and acknowledges that this contract for services, materials, products, and/or supplies includes all of and only those terms and conditions appearing on the front and back of this document. No additional or substitute terms and/or conditions shall become a part of this contract without the written consent of an officer of Basic Energy Services LP. (WELL OWNER, OPERATOR, CONTRACTOR OR AGENT) ITEM/PRICE REF. NO UNIT QUANTITY **UNIT PRICE** MATERIAL, EQUIPMENT AND SERVICES USED \$ AMOUNT 100 Miles 35 48 101 MI HOAVY eq Miles 490 397 M 113 Prop + Bulk Pel 0-817 enaige 4001-5000 204 441 378 60 240 Blend + MIX (narest 50 270 250 JIM ce 500 (DAT. 5003 gelvile gupervilo 20 00 SUB TOTAL CHEMICAL / ACID DATA: **SERVICE & EQUIPMENT** %TAX ON \$ **MATERIALS** %TAX ON \$ TOTAL

THE ABOVE MATERIAL AND SERVICE

ORDERED BY CUSTOMER AND RECEIVED BY:

FIELD SERVICE ORDER NO.

REPRESENTATIVE

MILLMATTA



TREATMENT REPORT

Customer He	manl	Luch	Lease No.				Date 7	7	8-14		
	SeilBe		Well #	2-29			3) - (8-17		
Field Order #	Station	Pro	ITT	Casing 5	1/2 Dep	th4824	County K		State US		
	COM		9 STY; 14		Formatio	n		Legal D	Description Z 9-27-1		
PIPE	DATA	PERF	FORATING DATA	FLUID (JSED		TREA		RESUME		
Casing Size	Tubing Siz	e Shots/F	t	Acid			RATE PRI	ESS	ISIP		
Depth 4 82	Depth	From	То	Pre Pad		Max			5 Min.		
olume 14,9	Volume	From	То	Pad		Min			10 Min.		
lax Press	Max Press	From	То	Frac		Avg			15 Min.		
/ell Connection	Annulus V	ol. From	То			HHP Use	d		Annulus Pressure		
lug Depth	Packer De	pth From	То	Flush 114	.6	Gas Volum	me		Total Load		
ustomer Repre	esentative	ni Lhael	Pully Station	Manager KeV	in Gol	Diey	Treater	MIKE 1	MATTH		
Service Units	37586	Part VIII	27463	19960	21010		pare pare				
Oriver Names	MATTAI		Kuemin	9135	ons				医医/温色		
Time	Casing Pressure	Tubing Pressure	Bbls. Pumped	Rate			Sen	vice Log			
7:45		(-			OCATIO			y Meeting		
2:30		and a			run 5/2 carins 15.5#						
					BASKT ON # 6, 12, 27						
	4/)			Turbolizes on BTM JT 1, nor or 1, 2, 4,6						
	1						26,30,3				
1:30					Circul	AIC	60 JTS	in,	30 Minutes		
3:15				/		00	- 1	4			
3:21			5						C14C W. R19		
	400		5	5	Puril 5 15/1 420						
	400		24	. 5	-		SB1 m.		14		
	400		5	5	Pump 5 BAI HZO						
	350		53	5	MIX 220 SKS 50/50 PUZ						
4:51	- 1		6	3	WASH PHAIR + LING, release Plug						
4:54	150)	-	6	-	t Dis					
	300		73	5.5	Liki prossure						
5:10:	400)	80	5	STOP reciprocaring						
2.12	800	(105	4	Slow rare						
5:18 11	100,1400	1	1145					400, 1	(e 1.045=0 + He 10		
		- 4				7 4/4					
5:25	-		7,51	***			+ MUHS				
		Annual Control			200	(our			hone Kui		
	A.	7	149				milky		ix (620) 672-5383		